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Results are based on telephone interviews conducted March 1-15, 2021 with a random sample of –1,010—adults, 

ages 18+, living in all 50 U.S. states and the District of Columbia.  For results based on this sample of national 

adults, the margin of sampling error is ±4 percentage points at the 95% confidence level.   

 

For results based on the sample of –561—national adults who are employed full- or part-time, or unemployed 

and looking for work, the margin of sampling error is ±5 percentage points. 

 

Interviews are conducted with respondents on landline telephones and cellular phones, with interviews 

conducted in Spanish for respondents who are primarily Spanish-speaking. Each sample of national adults 

includes a minimum quota of 70re
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14. With which one of these statements about the environment and the economy do you most agree – 

[ROTATED: protection of the environment should be given priority, even at the risk of curbing economic 

growth (or) economic growth should be given priority, even if the environment suffers to some extent]? 

 

  

Environment  

Economic 

growth  

Equal priority 

(vol.) 

No  

opinion 



 

 

 

Male Female White

Non-

white 18-34 35-54 55+

College 

Grad

Some 

College

HS Grad 

or Less

Republic

an

Independ

ent Democrat

Conserva

tive Moderate Liberal


